Group-Ill Main examination
General Studies and Mental Ability

Initial Key

O1. Two students appeared at an examination. One of them secured 9 marks more
than the other and his marks was 56% of the sum of their marks. The marks obtained by
them are:

42,33

02. How many seats in Rajya Sabha have been allotted to successor States of Andhra
Pradesh & Telangana respectively?e

DELETED
03. Which Ministry of Government of India publishes The Gazette of India.
Ministry of Housing & Urban Affairs

04. The square root of variance is

Standard deviation

05. The correct sequence of adopters of innovation is
Innovators, Early Adopters, Early Majority, Late Majority, Laggards
06. FCP software is used for

Video production

07. Whatis “innuendo”? in legal ferms?2

Slander

08. Assertion: (A) A free press necessary for a vibrant democracy.

Reason: (B) New media technologies have facilitated participatory

communication.
Both (A) and (B) are true
09. Assertion (A) The mass media shape the image and identity of political personalities
Reason (B) The ideology of the media outlet and treatment of news plays a significant
role in creating an image.

(A) is tfrue and (B) is the correct explanation of (A)

10. Heliodisplay refers to

Air-based display

11. Public service broadcasting day is observed on

12 November



12. Golden age of Indian cinema

1940-1960

13.The scale is method of measuring attitude both in psychology and

sociology.

Thurstone

14. Audio-visuals, voiceovers, animation and graphics which are combined with text is

called

Multimedia

15. The scientific study of signs and sign systems is called

Semiotics

16. Which of the following is NOT a social media application?

None of these

17. Technological determinism means that

Technology essentially 'causes’ certain behaviours

18. An infomercial is

Paid programming

19. Which of the following is not a student satellite2

GSAT-1

20. Which of the following was a key factor in the Western Model of Development ¢

Economic growth

21. The new model of development for developing societies focused on

Non material development indicators

22. “According to knowledgeable/informed sources” means

Source is not official but has access to official information

23. The agency for the measurement for TV audiences is



BARC

24. The Drug and Magic remedies Act, 1954 prohibits

Publication of objectionable advertisements

25. The Monopolies and Restrictive Trade Practices, 1969 was replaced by

Competition Act, 2002

26. Validity in scientific research means the study

The results of the study can be generalized

27: A radio program which can be shared via internet is also called:

Podcast

28. A: Measures of centrality are statistical tools
R: They help in deriving numerical information about the data

The A and the R are correct but the R is not the correct explanation of the A.

29. English weekly newspaper of Publication Division of Govt. of India

Employment News

30. Edema is a typical clinical feature of which disease?

Kwashiorkor

31. is a leading cause of maternal mortality and is showing an increasing trend in

Andhra Pradesh, affecting infants, children, adolescent girls and women of
reproductive age.

Anaemia
32. "The extension worker translates the scientific findings of the laboratories in such a

way that the farm families can voluntarily adopt them to satisfy their needs.” This is
called

Principle of applied science and democratic approach

33. Which of the following methods provides best opportunity to re-examine one’s own
as well as others point of view, feelings, behavior and experiences?

Role play

34. Conditionis aresult of plague buildup in the arteries.
Coronary artery disease

35.  An automatic response to a stimulus is called
Reflex



36. The Central social welfare Board initiated a for children aged 0-5 years of working women
engaged in agricultural work, building construction, economical backward class etc.

Creche

37. NIPCCD itself provide training to of ICDS programme.
. Child development project officers

38. Thecurriculum is child centric and based on child's natural abilities.
Montessori

39. Which of the following is not a priority area of National Policy on Education?

Compulsory nutrition education to all

40. Who is set to take over as the Vice Chief of Army Staff in 20192
MM Narawane

41. Banana Research Station under Dr. YSR Horticultural University is being
established

Venkatampalli, YSR Kadapa

41. TS DV 85 SIS DFLATEOON0 (80 @B DO ToPQ) DTN
.................... I[NNI S Tn L fo)

T0EL0HD, B D e3b ¥&bD
42. What is the number of victims of the Agri gold scandal in Andhra Pradesh and the
budget allocated to settle the issue in 2019-202

11.50 Lakhs and Rs. 1150.00 Cr.

42.¢30|85 DT TR0 @9l 'O 50025590 9O SRFONS 2rEISHE HOYPS OO 20-2019
056513065 Ss D050 DONYB0TIETFIE BEFaN0TIDBS DFE INB0 JOh?
11.50 ©F.e0 8050 &*. 1150.00 §EW

43. As per NFHS-4 the IMR rate in Andhra Pradesh was
35

44.  Who is the grass root level functionary under ICDS programme?

Aanganwadi Worker (AWW)

45. MEAN : 11 :: MORE : ¢
17

45. WS 111 : 5 : 2
17

46. MS Dhoni holds the honorary rank of in the Territorial Army unit of
the Parachute Regiment (106 Para TA battalion).
Lieutenant Colonel



47.

48.

Pradhan MantriMatruVandanaYojana (PMMVY) was introduced in India in the year .

2016

Which of the following programmes is not a Flagship programmes of Prime Minister Shree
Narendra Modiji*s 10 flagship programmes?

AntyodayaYojna

49. Choose the pair in which the words are differently related?
Radian : Degree

49, B80T IS VBOLIEVHTENID I D0D0GB0S G 0N (AHBOLEBBG)

50.

51.

52.

53.

BROHS : &Lﬁ

Arya Samaj was founded by?

Swami DayanandSraswati

Female infanticide Prevention Act was passed in the yeare

1870
Which of the following UN agencies works in for the upliftment of well being of children?2

UNICEF

Which of the following was established in 1993 as a registered society to promote women's
self help groups and lend credit for microenterprises of women through NGOs?

RashiriyaMahilaKosh

54. The sum of three consecutive numbers is 126. Find the highest number.

43

54. SOTCNBIOD0DIOTNB0 126, ¢3S DOHODINE?

43

55. Inland fisheries are:

raising and capturing fishes in fresh water

56. Which of the following country is the largest producer of pearlse

Japan

57. Which nation ranks second in world aquaculture production?2

India

58. What is IQF in food preservations?e

Individually quick frozen

59. The total weight of all organisms in a unit area or volume a given time

Biomass

60. The national fish of India is

Indian Mckerel



61. Which year was declared as the International year of Biodiversity

2010

62. What is the National Aquatic Animal of India
River Dolphin

63.Which molecular methodology from the following is used for species identification?
DNA barcoding

64. |dentify functions of insulin from the following

All of the above

Q65. Who published the book ‘Origin of Species’
Charles Darwin
66. What is the full form of IUCN?

International Union for Conservation of Nature.

67. Change the sign where it is necessary to make equation correct
28-(3+4)+(2x2)=0

Change + into x

67. B 80EEeT £00) DBAREIrEE5IB N TIEN R0 378 YO R.
28 - (3+4)+(2x2)=0

+ & x P3PS )0 B

68. The Rythu Bazars started functioning in Andhra Pradesh State from
January, 1999

69. If a clock takes seven seconds to strike seven, how long will it take to strike ten?e

None of above

69. 2.8 BOSPBE0NNOEISHBZTHEFIEIEIREOCD B NZOE,
DEBOEIOSHBZTZEFE 050D 0D REBR0E?
NIV

70.The central Agmark laboratory is situated
Nagpur

71. Asum of Rs. 370 is to be divided among A, B and C such that A’s Share = B's Share
= §

B'sShare C'sShare 4
Then, A’s share is-

Rs. 90

71. A B0y = B B0ELaer=3  e9DED S° 37000 A,B S8 C o3
B O308)a7¢rC BELarerd  DODIS A 8> OS2




90 &°| | e

72. The dimensions of a rectangular room when increased by 4 m are in ratio of 4: 3 and
when decreased by 4 m are in ratio of 2: 1. The dimensions of the room are

12mand 8 m

72. HS 25¢58| (rectangular) es5°35) B TBnE), FOeherdd (dimensions) 4 XD
20DINE 4:3 DADBESD, 4 N SHNODINE 2:1 DB S &) D. €3 36 AN
Serdden eans

12 & 58050 8N

73. The total emoluments of A and B are equal. However, A gets 65% of his basic salary
as allowance and B gets 80% of his basic salary as allowance. What is the ratio of the
basic salaries of A and B¢

12: 11
73. A D80 B © Jnho Srctncded (totalemolument) @ &s35°3s30. A T30y, SF°OE
225550 (Basicsalary) & 65% 2283 (allowance) e A P00 0805 B T3, 57O
2255065 80% 20BN B PO, A DB B TBEY oF°OE 285300 T30EY )
00O¢b 2

12: 11

74. The average temperature from Monday to Thursday is 489 and from Tuesday to
Friday is 52°. If the temperature on Monday is 42°, what was it on Friday?

580

74. QF0S0 (Monday) oG HATB0 (Thursday) B30 Sriew essl((ied (temperature)
48°. 083N DOKFT S0 (Tuesday) DO HFS0 (Friday) $SB50 Oew c&f|(ied 52°
0N, FNTE0 EaF((1e5 42° NS H|ET B0 23 DO ?

580
75. The batting average of 40 innings of a cricket player is 50 runs. His highest score
exceeds his lowest score by 172 runs. If these two innings are excluded the average of
the remaining 38 innings is 48. His highest score was

174

75. (83& (cricket) &€& 40 Dcsedo (innings) ¢S SoedB axse3oh (battingaverage) 50
DAMEN (runs). @5 D8O DV DN Hows (highscore/score) eNSE. €9ed
N8O 550905 DN HoW (lowscore/score) EOTY 172 B, €965 ed§HE DD
Q)00 DOWS DO 85705 DA AVY0NY SO N SOAODS ST°5ed AOS
38 DAHO ABNEY QTN 48 )08, A D) (high) e Soyg (score) B
(STOVWINEAINVUNINVOWINFATOING

174

76. A vendor sells 60% of apples he had and throws away 15% of the remainder. Next
day he sells 50% of the remainder and throws away the rest. What percent of his apples
does the vendor throw?

23%

76. 2,8 950280 TS (Vendor) ¢ 3¢ €5d) OSrS Ho (apples) &' 60% 92, ADS
eSS’ 15% PSSO (throwsaway) T, B0 F2 MAOS ¢3S 50% oy
RO 3°¢3Q VSRR €8 930280 TR DO F°H0 ST DOLRD B e3F°C.

23%

77. The price of petrol is increased by 25%. How much percent must a car owner
reduce his consumption of petrol so as not to increase his expenditure on petrol?



20%

77. & (petrol) &S 25% D8RI, 2.8 525 (car) AN D(E N 75 DO
F°H0 BN DET N @5 DE.) (expenditure) DEHZOE® G0N0 ?

20%

78. Ultimate goal of sustainable agriculture is

All the above

79. A measure of land and water needed to produce the resources we consume and
to dispose the waste we produce is known as

Ecological foot print

80. The major greenhouse gas produced from low land rice production cultivation is
Methane

81. The Next Generation Sequencing (NSG) facility was inaugurated in which city?

Hyderabad
82. Major cropping system occupying more area in India is

Rice and Wheat
83. The most conspicuous effect of modern agriculture is
All of these

84. Petrology is
Science of rocks
85. Oxidation process means

Loss of electrons

86.Match the following

|.Percolation A. Surface entry of water
ll.Permeability B. Saoil pores fully filled with water
ILInfiltration C. Water movement through soil column
IV.Saturated flow D Ease of water movement

1-C, 1I-D, lll-A, IV-B

87.Size of nano-particles is
Between 1 and 100 nm

88. Which of the following pairs is not correctly matched-
White Book - Official Reports of India

88. % 80OTESIE0IBTEBSIEIDGT
BE 208 -- 2088 1H2H S 0 HTBEITOY

89.The '+1'in '‘P5 + 1 Countries’ in UN refers to-



Germany

89. O Q.S P5+1 TS +1' BAGRFODOE:
2820

90. Which one of the following is not correct?
The breaking apart of the nucleus of an atom is called fusion.

90. %3808 ¢3S’ DA DTG 570 2
@€203) TBNEY S5°$SONR 0 TBd TN ‘D53’ @0erSd

91. Which of the following planets has the highest number of natural satellites?
Jupiter

91. B0BIFOS @S OEI0D S (8 DE DTS BAB?
TN ) (237> D)

92. Which article in the Constitution provides Legislative Council to be constituted in the
States.

169

92. 0723080 & Q220D T RO FF500%O) DBIBT @557 EOJN0H.
169

93. How many Revenue Villages were transferred to Andhra Pradesh after merging 7
mandals

from Khammam district

327

93. 30| SNTT &S’ D20 B D SNOBETFO EOFE SEFAHONSD HBeN I
QP8 )22 TF°0N?

327

94. Which Schedule has to be amended to create a new State

Schedule |

94. 5 T°[aTQ), DBIFTOO0T &) O D380 HEO?
ASr SOl

95. OCTOPUS in Andhra Pradesh was established in which year

2007

95. e30(QIINTB &S’ 2 D €32 D 50 ANV N & D05 IE0 DT°)ED TANDGOE?

2007

96. As per A P Reorganization Act, how many seats are reserved for SC and ST in AP
State Assembly.

29& 7

96.€30. (. HOEYT°2 LIQNDSBO0 D)., DR.3 50 0. (3. T 25 S’ AN, EY
8235 5 TAHRVTT0N?

2987

97. As per the A P Reorganization Act who is to look after the allocation of water of
Srisailam reservoir to the successor States

Krishna Water Disputes Tribunal



97.€30. 1. B T°269 SLHDSB0 3320 BBT® 0N DE3Q BO T°aTOE HODEBY
Q3B HBROTEN?
Eoa A3 AI@ YR 183207755

98. Which section of AP Reorganization Act indicate, the Central government to fulfill
the
Shortage of resources arose to residual Andhra Pradesh

Section 46(2)
98. €30.18. $)8,0°269 IO 5°Q & 1E.S 80 Bo|125065 S0 €993 0|S(0BF 0
S8EE TS 838 Y0E?

ES 46(2)
99. As per which provision and section of AP Reorganization Act the opportunity for
quality higher education to all students.
95, Part XI

99. €30.1. )EY0°269 IO ' & V.S & (AN TS0 905K DOy
DS )65 DB @935°F0 B BIDR0E?

95, 011

100. The Constitution (Scheduled Tribes) order, 1950, shall stand amended to AP
Reorganization Act as directed in

Sixth Schedule
100. 1950, 0580550 5008 (285D | T ®) T°e3*5050 e85, & 2acsressS ¢°
AFDODSE0.1. B 0726 TIETFIE S22 &0eN0E?

88 A% sS
101. In India, the Civil services day is celebrated on
215t April

101. 2SS B50S DS HEFD T’ D)) 235058 20Ce0E?
21 DS

102. Who was the first Minister for Information and Broadcasting of Free India?
Sardar Vallabh Bhai Patel

102. 25785333 SO 352378 DO (DTS 003 B2
HTB $2370DH HTO

103. All India Radio was previously known as

Indian Broadcasting service

103. &S R0AO® BRI B0 303¢3 DK.......
R0HOHS (25°6 S°NOA HE8 5D

104. Which was the first Indian sound film?2
Alam Ara

104. 23BN SO P08 DO D2
SO0 ST
105. The Wall Street Journal is published from
USA
105. S [ BELS o RIRMREINVEE el
050 AR o)
106. Ability to influence other individuals’ atfitudes or overt behaviour in a desired way
Leadership

106. @5 598D (D250 TBOWE) B 8 (DB 5B SIS
DO NBEN YT OB



OV AW
107. Which one is not an initiative of the BHARAT NIRMAN program

NRLM

10785068 8O)& ¢3S’ 238 QT 5°E5Ee006S 23750 STATE .2
NRLM

108. Which of the followings is a Social Protection Program
RSBY

108. &% 8O ¢3S Ardrres 25| SPESE00 D2
RSBY

109. The following process is employed to enhance accountability in MGNREGA
Social Audit

109815 BOIS T3S’ e Mo 2FBAD (T &rd T Do
23720 OB DOTOA0TIEFE 9 NIONI) NS0 2
eSeE S$D .
110. State level Sanctioning Committee for the PMKSY program is Chaired by:
Chief Secretary of the State

1108 528580 TBE) TR P00 c00237°8 EES TBIS D9%0.00.8.0.2) .2
O R (DS § S 285583

111. Etikoppaka is known for

Wooden craft

111, BHS B IS ¢3S AT )8 BIE 1H0O?2
INIYRAPNNIS)
112. These soils spread in parts of Andhra Pradesh are most important soils from the point of
view of Agriculture production
Deltaic Alluvial

112e30(IBT TYR0SR DA |roeeeeS” DQBODS &) TN S5STO3°eh )& 9ars .
INGIDAINWENPS VNI

T 2,0|¢0 Joen
113. South Asia Poverty Alleviation Program (SAPAP) in AP was supported by

UNDP

113. @0(QPINT3 S e0en TONDSS) 386 AT NS BT SEYEN0
(SAPAP)SE S35, @90EDX) A Dade

ON.DR.A.D
114. Funds and services of different Government departments could be effectively used
through

Convergence

114. DD (02065 § D VI, AN mrree @ $0° Do N0HOM s TITN0TISTR).
D8EBeD (885538
115. The funds share between Central and State Government for RURBAN mission is
60:40

115. 85 AS 96005008 o[, TR D20 £ & D) 258002
60:40
116. Which Programme has been merged with RGSA, a Central Government Scheme

from 2015-16....

Backward Region Grant Fund (BRGF)



116. 2015 - 16 055350 OB @58 DBSE0S DOSO TOANES B (H20eh § HSE0

NO?2

FHEDAS |0 9859 B G (BRGF)

117. The establishment of Institute of
Rural Management at Anandin Gujarat
was through visionary efforts of:

Dr VergheseKurien

118. The call for Bhoodan Movement in
India was given by:
Acharya VinobaBhave

119. By which date does Swacch Bharat
Mission (Gramin) seeks to achieve a
clean and Open Defecation Free (ODF)
Indiae

2nd October 2019

120. The Shyama Prasad MukherjiRurban
Mission (SPMRM)) was launched by the
Govt of Indiaon:
February 21,2014

121. The year of completion for Pradhan
MantriGrameenSadakYojana (PMGSY) is:

2019

122. Geo-tagging of assets created
under MGNREGA is done through:

Bhuvan Mobile Platform

123. Year of Natural Farming declared by
Govt of Andhra Pradesh is:

2018

124. Which of the following is a cash
crop?

Cotton

125. The Startup India Yatra is an initiative
to:

Search for entrepreneurial talent
in tier-2 and tier-3 cities

126. Which famous variety of mango was
registered as ‘Geographical Indications’
during May 2017¢

117. H3oed S &d) 8308 SO
2,5 @9 3O SrJes DOEW
D8 @) (DANT) ® IV IOT®)
23082

86 S8R0 H80HS

118. R0AAST & 2550956306300 S 80
DENY) QW)
sor8s DSt S

119, 55%) 78S MAS AB0Ey (TPE)
©E50 D580 & 8& S 2 E0H Sre
) Q0% DIAYT® QBTIOSODF) 0TS
DO G A:

(1) 82620192

120. & B3OS T (DE Sod
S 8)0))Rurban) AR )SPMRM)
P8 (D200 (PB0DODOA:

D038 21,2016

121. (DS 00 raded O&§
TraS YPMGSYIE (
B ONIOVS Doded S0

2019

122. MGNREGA 808 S0
s 23 ersAoh )Geo-tagging)
A 3T BEDSHOE:

2SR IBS IHE

123. 8oQINT3 (02050 (HEE30DS
QT D5 AN S0Jed)YB0 )Year of
Natural Farming) &2

2018

124. DS’ A Fedass Hoe?
S

125. "0 @035 “aASr|be>E 530 ”
5 808 S 2,863

35 $BKB SKo° S’ 25 805w
SSITHE (HAF S F*QoHe

126. 3 & 2TFOE Srdden 2017
SBr ToHaG (HVEG SN G
:83‘@

2088HO



Baganapalle

127. The largest (noft for profit) Mid-day
Meal programme in India is:
Akshaya Patra Foundation

128. A single platform working towards
holistic and sustainable development of
rainfed areas is:

National Rainfed Authority of India

129. Bharat Kokila or ‘Nightingale of India’
is:

SmiSarojini Naidu

130. During 2018, the largest number of
moneytransfers under Direct Benefit transfer

scheme:

Mahatma Gandhi National Rural
Employment Guarantee
Scheme(MGNREGS)

131. The nominated Nodal Officer or the
State Coordinator for Direct Benefit Transfer

(DBT) should be:

Principal Secretary
(Planning/IT/Finance) or
equivalent level officer

132. The statutory authority, Unique

Identification Authority of India (UIDAI),

works under the Ministryof:

Ministry of Electronics &
Information Technology.

127. 23S T30S’ ererng S
@BV LT SBS 85180

©E0H J° (¢ POTWAS

128. 38 roe@e D S0y QS0
DB AOES™ @D Ny D
DTAHErIE &3 28 IOE:
SASS BowI )& wp8ed 8D
20 & oS

129. 8¢ S8
)Nightingaleofindia) ™ & Fo&S
0

BB HTF2:d oo

130. & 2018, BBE BIDES 26O
DPHEo BB BIDE 6rJ) HO)
&HBPA0I B0 TST° SHED (D)
20D en @ssHE SopseS O HS¥o
.S &) O

St Mo d 2B 0%H e
GO I DPEo )MGNREGS)

131. BBE BIDS 26O
YDBT) 00 (DB A0NDAES
SS 8DN6 B ool
DASIANEY DSB2

1DAINS DB / 2¢3 / Foh)
B JSrS (DS o 8DIE

132, BLDIDIArDE
DTODTAS ©wded D
Q0 EASP)UIDAL), & D0(e36¢b ¢
3D 808 DATROH:
QOITN5) @0 H
ANBTIAS BS) 028
Q03§ Y.

133. The word ‘Democracy’ is derived from which language

Greek

133. TIPED @ 550 3 273 0D B2 EIE?

\AS

134. The Martandam rural reconstruction programme was based on certain principles

known


https://www.uidai.gov.in/aadhaar-eco-system.html
https://www.uidai.gov.in/aadhaar-eco-system.html

Pillars of Policy

134. ST OB (TP HB) 07260 S°BYEXV0 womvrrrsrrrrrrn @ DENIDT A& S SO
SNV OTRTOINTAw INTAY
DS Qozren

135. Gandhiji's approach and strategy of rural development gets reflected in his initiative

SamagraGramseva

135. [PoDETDNB8 H0220H0D) TodE TE) DGTFS0 OGN Js3r0, e30DS B
5255800 (DBDODNOE o

L (e RS
136. What is the name of the Center established at Chintaladeevi of Andhra Pradesh?

National Kamadhenu Breeding Centre

136. &30S (DB3 TR0 DOHOAES DT)EN BANDES To(C50 DED dN¢3?
2SO TNTN HoeeS'es 18 Bo (0

137. Restructured Weather Based Crop Insurance Scheme (RWBCIS) aims to......

Mitigate the hardship of the insured farmers against the likelihood of financial loss
on account of anticipated crop loss resulting from adverse weather conditions.

137.5@&(‘55535‘%)%0623&:6 TEIBD @O DOEI ST HDEO0 TBNEY OF SO v
DBETO TEEIGE DOVA SO EBIPOND DO IR0 IO &PFomr IR
2955250 &0, ST DEG50 EON &), BE® Faleradd 500

138. What is the Andhra Pradesh state average score under Mission Antyodaya?
61

138. 0AS @06%550% (8O 30(C3 (DTT TR0 TB0EY KN K0 DOh?

61
139. What is the overall Delta Rank of Visakhapatnam District under Aspirational District
Programme as on June 20182

11
139. @DOAB0H 27> 2018 S°B5E00 (80 2578 (3)YBAIS B[ )) T°¢38 DFPHE) 0
2 BBNEY BNB0 B T°S08 D02

11

140. Identify the correct statements related to JaganannaVidyaDeevena scheme:

a) 100 % fee reimbursement to the students belonging to the SC, ST, BC, Minorities, Kapu,
EBC and Differently Abled categories

b) Provide maintenance support to the students @ Rs 20,000 per child per year

c) Benefit 15.5 Lakh students

a, b, c are correct

140. (808 ¢3S’ 2353, DTs AR DB TOAS OB 0N WEROE & Hdosod.

a) s Soeren, TS BEen, SNERAS SEHBIO TS, DS (32O,
&050 IDEDAITD®, 5%, D0 ITOH ToAHS JrsHOR 100% e
800023 )08

b) 2525y DesB8 5063651078 85°.20,000/-> QB £53°€7° 050 €90 O0TIEI0

C) 15.5 8. N0 DTEOE (DBre3d0

2, 9, D O8 oS



141. In which place of Andhra Pradesh, the government decided to establish Kidney
Research Centre
& Super Specialty Hospital with an outlay of Rs. 50.00 Cr.2

Palasa, Srikakulam

141.830(85 (DTS T RO & [F0b0S &> 50.00 &€ S550H0S Sr(SDome DTS
B0(0 B ©EPLERAE VIO SN D AB0TOD (I 1Jarded F5)8S)
1925065 50 ABONODOL?

Jerd, Bseoo

142. How many barbers and dhobis will be benefitted by Rs.10,000/- financial support
provided by
the Government during 2019- 202

23,000 and 1,92,000

142,505 35065 19206950 9080TIDS), & 20-20190510 .,000/-> €388 SF0HOS Joch
DO PO (23753°€0EN, B23B0EN ©&) ORI B2

23,000 30808 1,92,000
143. Andhra Pradesh Government is embarking on a massive school infrastructure
modernization
program through................. scheme

JaganannaAmmavoid

|17 T DEE0 (8Os 0| (DT3B (8506550 BT 278 &S FET sOHS
BB IOPErE

208089) @2 2,6
144. What is the fund allocated in 2019-20 (new) budget of Andhra Pradesh to implement
YSR RythuBharosaprogramme?

Rs. 8750.00Cr.
144.3 DD €5 Bk BB DHF) €900 BDANEFIE H0S$I B0 (8 23 180 20-2019
3ErONO0DS N0 Do ?

&o°. 8750.00 §%¢
145. How many fisher men will be benefitted by the financial support provided by the
Government during fishing ban period imposed by the Government in the year 2019-202

1,17,053 fishermen

145. 2019-20005¢5 35065’ 925365 $0 THE 333 Q0D DN (H2Heh 0 00T
€398 DIFANO T° ST° ©38) FOLNDY, 08 155°E0EN DO HOE?
1,17,053 08 ed ) gsedoen

Directions (Q. Nos. 146 - 150): Study the following information carefully and answer the
questions given below.

A, B, C, D, E, Fand G are sitting around a circle facing the centre, not necessarily in the
same order. D is not second to the left of F but D is second to the right of A. C is third to
the right of A and C is second to the left of G. B is not an immediate neighbor of G.
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Question Number: 146
Who is to the immediate right of C¢
E
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Question Number: 147
Who is the only one person sitting between A and G¢
F
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Question Number: 148
Who is sitting immediate left of D¢

B
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Question Number: 149
Who is second to the left of C?2
B

149. C 30 50 3D &), B Ss8:;
B

Question Number: 150
What is E's position with respect to D2

Second to the right
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